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NAME DATE PERIOD

Study Guide and Intervention

Expressions and Formulas o d

Order of Operations

1. Simplify the expressions inside grouping symbols.
Order of 2. Evaluate all powers.

Operations | 3. Do all multiplications and dl\nsnons from Ieft to right.
4. Do all additions and subtractions from left to right.

Evaluate [18 — (6 + 4)] + 2.
18 -6 +4)]+-2=[18—-10] = 2

Evaluate 3x2 + x(y — 5) if x = 3 and

*y = 0.5.

=89 Replace each variable with the given value.
=4 8x2 +xly — 5) =3+ (3% + 8(0.5 — 5)
=3-(9) + 3(—4.5) -
=27 - 135
= 13.5

TREXErcises .

Find the value of each expressmn

1.14 + (6 + 2) o113+ 22 3.2+ (4 -2°%-6 __
4
4.9(32 + 6) 5. (5 + 29)2 — 52 6.52+ 5 +18 + 2
93 - ‘
(ERS 8. (7 — 32)2 + 62 9.20 = 22+ 6

10.12 + 6 + 3 — 2(4) 11. 14 + (8 — 20 + 2) 12.6(7) +4 +-4 -5

13.8(42 + 8 — 32) 1401222 -15. RS

Evaluate each expression ifa = 8.2,b = —3,¢c =4, and d = —%

16. 2  17.5(6c — 8b + 10d) 18. ‘f__;

19.ac — bd 20,6 —c)? + 4a. 21. % +6b — 5c

22, (g) =3 23.cd + 2 . 24.da+0)

25.a +b +c : 26.‘.b—c+4—:~d 27. > - d ‘

“b+e

Chapter 1 i ' 6 Glencoe Algebra 2
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Properties of Real Numbers

Real Numbers All real numbers can be classified as either rational or 1rrat10nal The
set of rational numbers includes several subsets: natural numbers, whole numbers,
and integers.

R | real numbers {all rationals and irrationals}

{all numbers that can be represented in the form , Wwhere m and n are integers and
nis not equal to 0}

Q | rational numbers

1 | irrational numbers | {all nonterminating; nonrepeating decimals}

1
N | natural numbers {1, 2::3,4,5; 6, 7, 8,9, =} B : i ’
whole numbers | {0, 1,2,3,4,5,6,7,8, ...} \

Z | integers . {oony =8, =2, =10, 11243, ..7.}

o
k2
c
(o]
n
wn
’ oo g
o5 5 = 5 naturals (N), wholes (W), integers (Z), rationals (Q), reals (R)
M
= Name the sets of numbers to which each number belongs. v
5 ' , . =
g Lo 2. -Vs1 3.0 4. 192.0005 o
@ * W
=
E 5.73 6345 7.0 8. 26.1
:
(O]
: i i | 10. lsé 11 —4.17
£ 12. -2 | | ore -1 . 14. V42
S ' '

15. ~11.2 R T S | i Y5

18.33.3 o 19. 894,000 20. —0.02

Chapter 1 ' 13 ' Glencoe Algebra 2
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Properties of Real Numbers

[_ Real Number Properties
For any real numbers a, b, and ¢
Property Addition Multiplication
Commutative | a+ b= p+ a a-b=>b-a

Associative (@a+b)+c=a+(b+ o

(@ b)-c=a-(b-g

ldentity at+t+0=a=0+a

a-l1=a=1.

Inverse at(-a)=0=(-a)+a

lfaisnotzero,thena-%=12%-3.

Distributive alb+ ¢) = ab + ac and (b+ c)a= ba + ca

il

= 8.1x + 15y

Simplify each expression.

Simplify 9x + 3y + 12y — 0.9x.

9 + 3y + 12y — 0.9x = 9% + (- 0.9%) + 3y + 12y
=0+ (-09)x + (3 + 12)y

—

Commutative Property (+)
Distributive Property

Simplify.

1.8(a ~b) + 426 —a)  2.40s + 18¢ — 5¢ + 11s

4.10(6g + 3h) + 4(5¢ —h) 5. 12(% - g)

3, %(4;‘ + 2k —6j +3k)

6. 8(2.4r — 3.15) — 6(1.5r + 2.4s)

7. 4(20 - 4p) — 2(4 — 16p) 8.5.5 + 8.9k — 4.7k —10.9/ 9.1.2(7x — 5) — (10 — 4.3x)

10.9(7e — 4f) — 0.6(e + 5) 11. 2.5m(12 — 8.5)

13. 4(10g + 80k) — 20(10k — 5g)
15.(7 ~ 2.1%)3 + 2(3.5x — 6)

17.14(j - 2) — 3j(4 — 7)

Chapter 1

3. 1 3 1
IZ'Z*U 57 r— P

14. 2(15 + 45¢) + -2—(12 + 18¢)

16. %(18 ~ 61 + 12 + 3n)

18, 50(3a — b) — 20(b — 2a)

14

Glencoe Algebra 2
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DATE PERIOD .

Solvmg Equations

Propertles of Eq uallty You can solve equatmns by using addition, subtractmn

Copyright © Glencoe/McGraw-Hill, a division of The McGraw-Hill Companies, Inc.

multiplication, or division.

Addition and Subtraction
Properties of Equality

For any real numbers a, b, and ¢, if a = b,
thena+c=b+canda—-c=b-—c

Multiplication and Division
Properties of Equality |

For any real numbers a, b, and ¢, if a = b,

thena-c=b-cand,if cis notzero,% =

Solve 100 — 8x = 140.

Solve 4x + 5y = 100 for y.

100 — 8x = 140 4x + by = 100
100 — 8x — 100 = 140 — 100 4x + By — 4x = 100 — 4x
+—8x = 40 5y = 100 — 4x
x=—b y = (100 - 4v)
== T
y =20 5X
~ Solve each equation. Check your solution. _
1.3s = 45 2.17=9-a . 8.5t—-1=6t-5
2 1 N o fiig
4§m—§ 5.7 5% 3 6. -8=—-2z+ 1) o
. i i ’Fl
7.0.2b = 10 8.3x + 17 = 5x — 13 9.5(4 — k) = —10k c
2
10.120 — 2y = 60 llé =98 — 12. 4.5 + 2p = 8.7 o
. o= egh = n . 4. p = 8. M

13.4n + 20 = 53 — 2n

© 14.100 = 20 — 5r

Solve each equation or formula for the Specifiéd variable.

16.a = 3b — ¢, for b
18.h = 125 —1,forg
20.2xy = x + 7, for x
22.3(2j — k) = 108, for j
24, % + 5m = 20, form

Chapter 1

17. 2 =10, for ¢

o

19, 22 — 12 for p
4. 7.

21.2 4—6,forf

23, 3.5 — 42 = 14¢,for s

25. 4x — 3y = 10, for y

21 o Glencoe Algebra 2

15.2x + 75 = 102 — x
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ff 1-4 " Study Guide and Intervention

Solving Absolute Value Equations T

Absolute Value Expressions The absolute value of a number is the number of
units it is from 0 on a number line. The symbol |x| is used to represent the absolute value
of a number x.

l

ite ° Words For any real number a, if a is positive or zero, the absolute value of a is a.
4t Absolute Value ) If a is negative, the absolute value of ais the opposite of a.
‘ * Symbols For any real number a, |al = a,ifa= 0, and |a|-= —a,if a < 0.
.61 B
Evaluate |—4| — | — 2 | if| CA2ELIE Evaluate | 20 — 3y | if
x=—4 andy = 3.
.3 |~4] - [-2| = |-4] - [-2 6] |20 — 3y] = |20 - 33)|
" = |~4] - |-12] =|-8-9|
g =412 : = |-17]
.' n

Evaluate each expression if w = —4,x = 2,y = L 5»and z = —6.

-
w

o
1. |2x — 8| 2. ]6+z] - |-7] : 3.5+ |w+z| ‘ 2
| 4. |x+5] - |2w] B xl =yl = 2] - 6. 17— x| + |3x] g
an : ! %
g
.1 2
7. |w — 4x] 8. lwz| — |xy| : 9. 2] — 3|5yz| =
\ 10.5|w| + 2|z = 2y 11. |z| — 4]22 + y] 12. 10 — |xw | J
i ' =
g £
'.01‘% 1 EG’)
! 13.!6y+zj+fyz| ' 14.3|wx| +Zl4x+8y| 15.7,yz|—30 Z
5.| 4 . " 3
. 16. 14 — 2| w —xyl 17. |2x—yf + by 18. |xyz| + |wxz| i
9. |
19.2|2| + x|x| 20.12 — | 102 — 10y 21. |52 + 8uw|
1. .
< | 3 1 ' |
50 99, 'yz—4w| —w 23.Z]wz| +§|8y' 24, xz — |xz| 3
23, ‘

25 Chapter 1 28 Glencoe Algebra 2
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' 4 Stluly Guide and Intel'velltlon (continued)

Copyright © Glencoe/McGraw-Hill, a division of The McGraw-Hill Companies, Inci=

Solving Absolute_ Value Equations

Absolute Value Equations Use the definition of absolute value to solve equations
containing absolute value expressions.

For any real numbers a and b, where b = 0, if fa| = bthena=bora= —h

Always check your answers by substituting them into the original equation. Sometimes
computed solutions are not actual solutions.

HICIIEE  Solve [2x -3 | = 17. Check your solutions.

a=b Case 2 a=-b

2% — 3 =17 2% —3=—17
2x—-3+3=17+3 : . 2 —3+3=-17+3

2% = 20 ' 2% = —14

x =10 x=—7

CHECK |2x — 3| =17 ' CHECK |2(-7) - 3| =17

|2(10) — 3| = 17 : |-14-3] =17

|20 — 3| =17 ‘ |-17] = 17

17l =17 17=17/

17=17V.

There are two solutions, 10 and —7.

Solve each equation. Check your solutions.

1. |x + 15| = 387 o 2. |t—4| —=5=0

3. |x—-5] =45 4. |lm + 3| =12 - 2m
)
5. |56+ 9] +16 =2 6. |15 — 2k | = 45 <
‘ L
- . v :
7.5n +24 = |8 — 3n| 8 |8+ 5a|l =14 -a < o
. | @
1 ' —
9. zl4p — 11| =p + 4 10. [3x — 1| = 2¢ + 11
11. ‘_x-i—Sl -~ ' 12. 40 — 4x = 2|3x — 10/
13.5f—l3f+4[=2o 14. |46+ 3| =15 - 2
15—|6~2x|—3x+1 16. |16 — 3x| = 4x — 12
Chapter 1 ‘ 29 | Glencoe Algebra 2







